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ENGLISH
‘ON THE FACE OF IT' BY SUSAN HILL

Read the following questions and answer by choosing the most appropriate
option:

Q1- Who has written On The Face Of It?

A) Susan Hill

B) William Sydne
C) Salman Rushdie
D) Chetan Bhagat

Q2- What is this play featuring?

A) an old man and a small boy meeting in old man's garden
B) gossip of old man

C) old man's woes

D) brave acts of a small boy

Q3- Who is Mr. Lamb?

A) a young man

B) a middle-aged man
C) an old man

D) none

Q4- What were Derry and Mr. Lamb victims of?

A) vision impairment
B) Physical impairment
C) war

D) none

Q5- Why did Mr. Lamb help Derry?

A) because both were victims of war

B) both were sad

C) both were victims of physical impairment

D) because he wanted Derry to change his view of life.

Q6- Who is Derry?

A) Derek- a boy of 14 and has acid burnt on his face
B) a small boy

C) a boy

D) a young boy




Q7- What unites Mr. Lamb and Derry?

A) their age

B) their woes

C) their life stories

D) their physical impairment

Q8- How does Mr. Lamb keep himself busy?

A) by reading books

B) by chatting with people

C) by pulling down the ripe crab apples of his garden
D) All these

Q9- Why did Derry go to Mr. Lamb's garden?

A) to steal apples

B) to speak to Mr. Lamb
C) to help the old man
D) to feel that place

Q10- How did Derry enter the garden?

A) from the front gate

B) from the side gate

C) from back gate

D) by climbing the garden wall

Q11- Why did Mr. Lamb keep the door of his garden open?

A) to keep an eye over his garden

B) to be safe

C) to chat with the people and the children who come there to take fruit
D) none

Q12- Why did children call Mr. Lamb Lamey Lamb?

A) because he stopped them from taking apples
B) he spoke rudely

C) they didn't like him

D) because of his broken leg in a bomb explosion

Q13- Why didn't Mr. Lamb feel hurt by children’s comments?

A) because he thought that it suits him
B) he loves children

C) he likes them

D) he want them to play in his garden




Q14- What does Mr. Lamb grow in his garden?

A) cherry
B) peach
C) pomegranate
D) apples

Q15- How did Mr. Lamb pick apples?

A) bending down

B) with the help of his servant
C) with the help of children
D) using a ladder and a stick

Q16- How did Mr. Lamb use the apples?

A) made jam

B) made pickle

C) earned money

D) he used to make jelly with them

Q17- Why did Derry go to Mr. Lamb at the end?

A) because of his wish to live a free life
B) he wanted apples

C) he wanted to play in the garden

D) none

Q18- Why did Derry's mother stop him to stay with Mr. Lamb?

A) because he was not well

B) because he would scold him

C) because he talked too much

D) because she didn't want him to stay with a stranger

Q19- Why did Derry share his fear with Mr. Lamb?

A) because he had a garden

B) because he was old

C) because he understood him and was friendly
D) none

Q20- How did Mr. Lamb help Derry?

A) by giving him apples

B) by talking to him

C) by helping his mother

D) by giving him a positive outlook towards life




Q21- Why did Mr. Lamb call Derry blessed?

A) because he was young

B) because he had a mother

C) because he had friends

D) because except a burnt face he had a perfectly healthy body

Q22- Which story did Mr. Lamb narrate to Derry?

A) Cindrella

B) The snowman

C) The Dwarfman

D) the beauty of the beast

Q23- What kind of a garden did Mr. Lamb have?

A) cherry

B) plum

C) peach

D) Apple garden

Q24- Where was Mr. Lamb's house?

A) on atree

B) on the road

C) on a street

D) inside the garden

Q25- How did Derry burn his face?

A) in a fire

B) with a gas stove
C) hot water

D) acid burnt his face




MATHEMATICS
Evaluate the following integrals.

coSx—sinx
[eososine gy

1+sin2x

cosx
2. dx
f (sinx+cosx)?

3.1- sin(x—A) dx

sin(x+A)

4.1- tan(leogx) dx

f x+tanx

> dx
x<—2logcosx

6.[ cos3 x elo9snxqy
7.f cosec®x dx

8.[ tan3xsec*x dx

f 1—cotx
“J 1+4cotx

10.[ —=

1+sinx



ACCOUNTANCY

RETIREMENT OF A PARTNER
A, B & C share profits in the ratio 3:2:1. On C's retirement his share is taken by A & B in the ratio of 2:1 Calculate
new ratio.
A, B & C are partners in the ratio of 3:2:1 C retires. A & B decide to share future profit in the ratio of 5:3. Calculate
gaining ratio.
M, N & P are partners in a firm. P retires & the goodwill of the firm is valued at Rs.30000. M & N decide to share
future profits in the ratio of 3:2. Pass necessary entries.
(@) If goodwill A/c already appears in the books at Rs.18000
(b) When no goodwill A/c appears in the books.
R, S & T are partners in a firm sharing profit & loss in the ratio of 2:2:1. T Retires and his balance in capital a/c after
adjustment for reserve & revaluation of assets & liabilities comes out to be Rs.50000. R & S agree to pay him
Rs.60000. Give journal entry for the adjustment of goodwill.
X, Y and Z are partners in a firm sharing profits and losses in the ratio of 2:1:1, Y retires on 31st March, 2019. On
that date, there was a balance of Rs.24,000 in general reserve and Rs.16,000 in profit and loss A/c of the firm. Give
Journal entries.
P, Q and R are partner's sharing profits and losses in the ration of 3:2:1. P retires and on that date there was workmen's
compensation fund amount Rs.30,000 in the Balance Sheet. But actual liability on this account was for Rs.12,000 only
on that date. There was also a debit balance of Rs.15,000 in P & L A/c. Give Journal Entries.

Vijay, Vivek and Vinay were partners in a firm sharing profits in 2:2:1 ratio. On 31.03.2020, Vivek retires from the
firm. On the date of Vivek's retirement the balance sheet of the firm was as follows:

Balance Sheet of Vijay, Vivek and Vinay

As at 31.03.2020

LIABILITIES RS. | ASSETS RS.
Creditors 54,000 | Bank 55,200
Bills Payable 24,000 | Debtors 12,000
Outstanding Rent 4,400 | Less: Provision 800 11,200
Provision for Legal Claims 12,000 | Stock 18,000
Capital Furniture 8,000

Vijay 92,000 Premises 1,94,000

Vivek 60,000

Vinay 40,000 1,92,000

2,86,400 2,86,400

On Vivek’s retirement it was agreed that:

Premises will be appreciated by 5% and furniture will be appreciated by Rs. 2, 000. Stock will be depreciated by 10%.
Provision for bad debts was to be made at 5% on debtors and provision for legal damages to be made for * 14, 400.
Goodwill of the firm is valued at Rs. 48,000.

Rs. 50,000 from Vivek’s Capital A/C will be transferred to his loan A/c and the balance will be paid by cheque.
Prepare Revaluation a/c, Partner’s Capital A/cs And Balance Sheet of Vijay and Vinay after Vivek’s retirement.




8. A, Band C are partners sharing profits and losses in the ratio of 3:2:1. Their Balance Sheet as on 31* March, 2020 is

as follows:
Balance Sheet as on 31.3.2020
Liabilities 7 Assets F
Creditors 30,000 | Cash in Hand 18,000
Bills Payable 16,000 | Debtors 25,000
General Reserve 12,000 | Less: Provision 3,000 22,000
A’s Capital 40,000 | Stock 18,000
B’s Capital 40,000 | Furniture 30,000
C’s Capital 30,000 | Machinery 70,000
Goodwill 10,000
1,68,000 1,68,000

B retired on 1% April, 2020 on the following terms:
i) Provision for doubtful debts will be raised by ¥ 1,000.
i) Stock will be depreciated by 10% and Furniture by 5%.
iii) There is an outstanding claim for damages of ¥1,100 and it is to be provided for in the books.
iv) Creditors will be written back by ¥ 6,000.
V) Goodwill of the firm is valued at ¥ 22,000, which is not to be shown in the books of the new firm.
vi) B is paid in full with the cash brought in by A and C in such a manner that their capitals are in proportion to their
profit-sharing ratio of 3:2.
Prepare the Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the new firm
executors.

BUSINESS STUDIES
Q1. Meca Ltd. a reputed automobile manufacturer needs Rupees ten crores as additional capital to expand its
business. Atul Jalan, the CEO of the company wanted to raise funds through equity. On the other hand the Finance
Manager, Nimi Sahdev said that the public issue may be expensive on account of various mandatory and non-
mandatory expenses. Therefore, it was decided to allot the securities to institutional investors.
Name the method through which the company decided to raise additional capital.

Q2. These days, the development of a country is also judged by its system of transferring finance from the sector
where it is in surplus to the sector where it is needed most. To give strength to the economy, SEBI is undertaking
measures to develop the capital market. In addition to this there is another market in which unsecured and short-term
debt instruments are actively traded everyday. These markets together help the savers and investors in directing the
available funds into their most productive investment opportunity.

1. Name the function being performed by the market in the above case.

2. Also, explain briefly three other functions performed by this market.

Q3. “Money market is essentially a market for short-term funds’. In the light of this statement state any three features
of money market.
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ECONOMICS
When was National Food for Work Programme launched?
a.2005
b.1992
c.2012
d.2004

By which year governments are aiming to meet the Millennium Development Goals including

halving the rate of global poverty?
a.2011
b.2035
.2015
d.2045
Which of the following is an indicator of poverty in India?
a.All of these
b.1literacy level
c.Income level
d.Employment level
State the category of those people who are churning poor moving in and out of the poverty
Explain in brief how does rise in price is responsible for poverty?
Which organisation collects data on poverty in India?
On which basis did Dadabhai Naoroji computed the average poverty line?
Which concept of poverty helps to assess the level of inequality in the country?
Explain how rapid growth in population spreads poverty.
When does economic growth leads to economic development?



BIOLOGY

1. During DNA replication, Okazaki fragments are used to elongate

a) The leading strand towards replication fork

b) The lagging strand towards replication fork

c) The leading strand away from replication fork

d) The lagging strand away from the replication fork

2. If the total amount of adenine and thymine in ds DNA is 45%, the amount of guanine will be

a) 22.5%
b) 27.5%
c) 45%
d) 55%
3. DNA sequence coding protein is called

a) Intron

b) Exon

c) Intervening sequences
d) Junk DNA

4. The region of tRNA having 3 bases complementary to mRNA codon is

a) Psite

b) Codon

c) Amino acid binding site
d) Anticodon

5. Which of the strands synthesise the mRNA

a) Non template strand
b) Coding strand

c¢) Template strand

d) Promoter

6. Eukaryotic RNA polymerase Il catalyses the synthesis of
a) mRNA
b) rRNA
c) hnRNA
d) tRNA
7. The promoter site and the terminator site for transcription are located at
a) 3' (downstream) end and 5’ (upstream) end, respectively of the transcription unit.
b) 5’ (upstream) end and 3’ (downstream) end, respectively of the transcription unit.
c) The 5’ (upstream) end.
d) The 3’ (downstream) end.
7. Why both strands are not copied during transcription?
8. What is meant by regulation of gene expression?



CHEMISTRY
CLASS - X1l CHEMISTRY [Surface chemistry)

F_.‘|

9.

10.

Topic:- Properties and applications of colloids, Emulsions.

How is a colloidal solution purified by dialysis?

What is observed when light is passed through a colloidal solution?

Define the terms - (a) Brownian movement (b) Electrophoresis?

State Hardy- Schulze rule?

What is a protective colloid?

What is locculation?

Alum is used for purification of water. Why?

Give three applications of colloidal solutions?

What are the two types of emulsions?

How does an emulsifying agent work? Give an example of emulsilying agent.
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PHYSICS
FIVE MARK QUESTIONS

1 (a) Define the term ‘drift velocity’ of charge carriers in a conductor. 30 2

Obtain the expression for the current density in terms of relaxation ” 50
time. w00 5
(b) A 100 V battery is connected to the electric network as shown.

If the power consumed in the 2 € resistor is . %

200 W, determine the power dissipated in the 5 Q resistor. | |n=n v 2

2 (a) State, with the help of circuit diagram, the working principle of a meter bridge. Obtain the
expression used for determining the unknown resistance. 5
(b) What happens if the galvanometer and cell are interchanged at the balance point of the bridge ?

(c) Why is it considered important to obtain the balance point near the midpoint of the wire?

3 (a) State Kirchhoff ’s rules for a network. Using Kirchhoff ’s ﬂfﬂ \fﬁ_
rules, obtain the balance condition in terms of the resistances of r Y—|‘ 8| —J,
four arms of wheatstone bridge. o *;IJ |
(b) In the meter bridge exprimental set up, shown in the figure, . 2 o
the null point D is obtained at a distance of 40 cm from end A of A o C >
the meter bridge wire. If a resistance of 10 Q is connected in It (}
series with Ry, null point is obtained at AD = 60 cm. Calculate the K
values of R; and Ra.

4 (a) State the principle of potentiometer. Define potential gradient. H! AP
Obtain an expression for potential gradient in terms of resistivity of
the potentiometer wire. <300 em——

(b) Figure shows a long potentiometer wire AB having a constant alS 120 om— B 5
potential gradient. The null points for the two primary cells of emfs g, \\ _— /‘“ ’;“

and g2 connected in the manner shown are obtained at a distance of |; Nl

=120 cm and I; = 300 cm from the end A. Determine (i) €1/g; and (ii) e e

position of null point for the cell €1 only.

5 (a) State the working principle of a potentiometer. With the help of the circuit diagram, explain how a
potentiometer is used to compare the emfs of two primary cells. Obtain the required expression used 5
for comparing the emfs.

(b) Write two possible causes for one sided deflection in a potentiometer experiment.

6 State Kirchhoff ’s laws of an electrical network. Using - Fev =x2 LB
Kirchhoff ’s laws, calculate the potential difference across the B ”zfc 5
8 Q resistor. Fa o e 1 o

7 (a) State the working principle of a potentiometer. Draw a circuit diagram to compare emfs of two
primary cells. Derive the formula used.

5

(b) Which material is used for potentiometer wire and why?

(c) How can the sensitivity of a potentiometer be increased?



HISTORY

Write the answer of following questions questions not more than 30 words carry 1 mark.

Who wrote the Jungle book?

Who were Uzbeks?

Humayun took refuge in the court of —— ruler of Iran.
Mughal court chronicles were written in

The Mahabharat was translated as the——.

Although kitabkhana can be translated as——

Akbar favourite was the——— - a fluid style with long horizontal.
Who was Muhammad Husayan of Kashmir?

Who wrote Alamgirnama?

10 By what date Mughal Empire lost their aura?

11. What was magical art in the word of Abul Fazal?

12. Write the name two Irani artist who came India with Humayun?

©CoNR~LNE

GEOGRAPHY

Topic: Human settlements
1. ‘Settlements vary in size and type ‘. Analyse the statement .

. Which factors are responsible for having different types of rural settlement in India.
. Classify rural settlement in India and mention examples for each of them.

2
3
4. On base of evolution in different periods how Indian towns are classified? Mention with examples.
5. List out the prehistoric towns of India.

PSYCHOLOGY
(VERY SHORT QUESTION: 1 MARK)
1. The term which refers to one‘s own group is called
2. Cohesion amongst group members can interfere with effective leadership and lead to
disastrous decisions. This process is called
3. Identify the correct sequence of the stages of group formation.
(a) Performing, norming, storming & forming.
(b) Forming, storming, norming & performing
(c) Norming, storming, forming & performing
(d) Storming, norming, performing & forming.
4. A collection of people around a roadside performer is an example of a
5. Reduction in an individual ‘s effort when working on a collective task is
known as

(LONG QUESTION 4 MARKS)

6. Give one incident of social loafing in school. Why does it happen? Give any two ways of reducing
social loafing.

7. Extreme cohesiveness within a group can become malfunctioning. Explain

8. Differentiate between group think and group polarization. Suggest any four ways to prevent or
counteract group think.

9. Give any three factors that influence an individual ‘s performance in the presence of others.

10. Why does group polarization occur? Suppose you favor capital punishment for heinous crimes, what
would happen if you were interacting with the discussing this issue with like-minded people?




LEGAL STUDIES

Q1. Define crime. Briefly explain what constitutes a crime?
Q2. Distinction between Intention and Motive
Q3. Mention the various elements of crime?
Q4. What are the various kinds of crime under the IPC?
POLITICAL SCIENCE
1. What was the condition of the country during 1971-72?
2. What do you understand by naxalite movement? In which part of the country it took? List the reasons for it.
Also mention the outcomes of this movement.
3. Why do you think so there were so many movements taking place in the country during the period of 1971-72?

4. How significant was the role of Ram Manohar Lohia and JayPrakash Narayan in the Gujarat and Bihar
movement respectively?

OPTIONAL 11
HINDI
AT H OId & S8 ST 1 SISt il gt § Id AT b Soia- UR ST T UHTd USdl 82

ANSWER:

AT H Sfd T S8 SRATAT b1 991 A7 ol ©, dd HIeHal &b Soiia IR b1 TT6R1 YHTE USdl ¢ | Gd sRATd
il 81 ArerdT # YT T Ut § R S § 1 F81 deb bl ST bl U ORI H Ugd Wil 81 B dgergl
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I &1 G HUT §S & | 981 b1 SRAT b1 el HIAdT B! YGRSl S B
Page No 47:
Question 2:

3 HTTaT H 391 U et R S fiRT BT AT 3P T HRUT B2

ANSWER:
Y 910 & 9gd Y HRU 8-

(@) SHNRIHIO 3 TRl &} JHAM Ugar & | $Ub HRUN TAfaR § HhaR dead o@a- & fid &1 584
T, U T YfE UGNl Bl SgTaT e B
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M) TSI o1 3Af¥d FeTs & HRUN Ui ATerar Rl Ioieq il B
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Question 3:

AR 3T & FollaR TIT 301 THHd & fb 3 UTHl &1 Uaiel ST7d & SR U8a oM & Al $ g o 27

ANSWER:
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TR 31T &1 AT 3 Al DI U TG T o AT ST 381 6 I'- T 3R Ha?
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Y 3 o e & off ugia & faan g1 Afear St o 1 9 Hid 6, d YWl &1 9ue | 1 TS § | 58
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HRAT HRY FR 1| I I8 & fAIg TS Bl HTet, S & forg e & faror 3 forg gt &1 vy foran, s,
e, urd, SR 31fe BT SagHdIan B! [T B3 b T IT- gt &1 Wil | T8 Ha1 (9 8, s w0 &t
TS HIET ST YT 81 31c: TH T U] Hg |

Page No 47:

Question 7:

et T aTTaRUT TRH Y 81 38T 32 390 WY 3R 3RepT o1 om Yt 82 fewoft sifru|

ANSWER:

3T IR YR H Teae afei o1 WeRT HexT 61 7 1 Y fay & aunfies 39 fRUfY T e 81 39% HRUT Rt &1
IIATERU il § TRA 81 6T 81 §H IS 7 3ot giaenst & 9 W ot o a1 8, 98 sUR N WaR1®
g 81 X1 |1 aTeHl, gaTs STeTen, farolel 9 aTdl WaE! (Wiiew), ST sare J sfendy 81 arel 1Rfig e
D1 I8 I HIe- STHSHES H I 81 W 81 37 Ml T e SHiass, ffeE, Agee iass
gafe MeTST T4 &) 0 § 9 81 &, RO 371 7191 T 317aRur g1 81a S 367 ¢ | ) SH1aR0 I &1 Wdfcld
TN B1 e Y81 8, o eRelt & o & Feladl 81 Xa! 6 | WRER! &1 9t §¢ g araa 9 dont 3 fad 8t
21 Y o Tl 99T B 5/d Adhe WS 81 YhdT ¢ | STl b1 et Te | g1 38T Herd +f 3! gt Tad st
golg g1 ST Pl STHTGIIES &1 UET & Udfas 0 ¥ f4f3a ovd 8§, dfed 39! stungy ders § I8
Ui Fdae i T8 81 36 31 Il Siedl 781 1 118 ) AR Sitg R W) gaferyt =i 33 @e1 g1 3
%Bﬁﬁ?%&rﬁﬁ@;ﬂqﬁﬂé&ﬁaﬁwg@%lﬁﬁmmaﬁmmﬁw%@sﬂ
I WIHR T8 B & |




Page No 48:
Question 1:

7 3MMUpT Y ggfarur &) foidr 82 3R & i frd UhR? 31uA Wsal H forfau|

ANSWER:
g1, g3t Wi TaRau o f=id 8 | § <@ QT § fob Sr9-Ury 1 gTet ¢ | H faeedl # X6l § 31K 31 I8 WRd & gl
TGN g XER H S § | THS HROT JgT & ATRS| 1 T Heieh qut @an deielh e 81 38 §1 9gf
IS IR A1 ol O 9UA &1 91 & | 59 PRI AN &1 31g ft &1 1 61 5| T Fiadl § afg U1 6T, dl HRd &1
feeT o1 S ITeT U8 TR HY TR 3TF SHfaRkad afe TR <= F TR IS IR ER 1 g1 511 X871, dl gAR
3 arelt Tiedl o1 a1 e 59 I & S| g i &) o PR TR aRAT GHY @R el 81 Ofd AR <
UGVUl & SIgR ¥ & 1 SITuT |

Page No 48:

Question 2:

%aﬁmﬂwmaﬁmmm%lm-mamm%ﬁaﬁﬁﬁ@wﬁw%ﬁﬂmww
|

ANSWER:

AT = T¢d g 30 A & 1T s & 6T § | Is A 9 & 71| § 3 SR oy, o Uit
g3l 1 FHTor fasa, S g o Aiemn off Tya et ot I8 A 30+ SIRMGT & 9 TR 3T Hed=1 Bl
PR o1 T & Sl Faa bl o7 foa] §1 5 el Ueb SR &8 i O Iaifd & T SRR e,
IET IR SIR UTTaRU &1 oY 81 JHUH BT g | SR Tl = Uhid Bt sita- et B STeTd Ugard g |
sﬂmﬁmaﬁﬁwﬁéﬁm aﬁwﬁwﬁmmﬁmmlwﬁ@mqﬁﬁwﬁﬁ
BT T 1 TR TRR F R 4R &1 8 | U HITa gRT € TS g He B 1 UpTa, IS &1 Feg it @t
2 3R g9 I B aRE dﬂmw&rfﬂ&ﬂwmﬁmﬁéﬁ%lqﬁm@ﬁ S TS B 1 T TP P
ZaT S R foran 8 fb 399 31 B3 HTd BISHR faeiadT B YRl R o’ g1 §gd UPia algd § Siali,
YT U9 aRIHSH T UGN 6 T § | TReg YiH UGl &1 Sifiedr 3ud € S o aﬁ?ﬂ%ﬁ%%ﬁﬂﬂ%
BRI 3D A3 T ST BT SHTHAU T | SRIE-51T8 HIHa HiHd der & o @S od &, o 1w
g 3T YHR & TR & g 3fe WaR1 eI @I g1 a1l & Herd § Y & werd &) Juam 3R IR &
TR &1 U ATHA 3718 § | 31 & (T FHerd = STl SaR] & SHfdd &1 Yobe H STA1 g | SHoll & IdTG
& U Srad TUaT T IR & g3 § | TR o SAATIS TN A et Jaieh ugwur &1 aerm g1 339 sqd!
IARAI TR UG UST 8 | 37 Fit Trrefl )R gfe it e gt fon 1, @t ofi =reiehy 4 vt gt faepreren
D1 gg B W UR B S| 31T UgiaRul H §¢d UgWUl & HRUT Hd 3 STHIRAT 391 Hg Ble A9 &I HId
BT U T & U TR § | U SRT ¥ g6 fid urd & for 78 ARt s as! g |

Page No 48:

Question 3:
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EMM
Q1. Explain the various consequences of suspension and expilsion of a trading member.
Q2. What are the various grounds on which a trading member can be suspended or expelled?

PHYSICAL EDUCATION

Q1- What is a test in sports?

Q2- What is the meaning of the term ‘measurement’ in sports?

Q3- Name the tests which we use for cardiovascular fitness.

Q4- Calculate the Physical Fitness Index for a 12-year-old boy having completed Harvard Step Test for a duration
of 3 min and a pulse rate of 54 beats for 1 to 1.5 min, 50 beats for 2 to 2.5 min and 46 beats for 3 to 3.5 min.

Q5- Which motor quality does a senior citizen lack who finds difficulty in tying the shoelaces while sitting on a

chair?
PAINTING

TOPIC-STILL LIFE

1) Make a still life using two or three natural and geometric forms and drapery in pencil with light and shade
from a fixed point of view. Natural forms like plants, vegetables, fruits and flowers, etc., are to be used.
Geometric forms of objects like cubes, cones, prisms, cylinders and spheres should be used.

1P : Series and mysq|

1 (a): Find the output of following program. (2)

import numpy as np

d=np.array([10,20,30,40,50,60,70])

print(d[-4:])

(b) What is series? Explain with the help of an example. (2)

(c) Write a NumPy program to create a 3x3 identity matrix,with all values as zero. (2)

(d) method in Pandas can be used to change the index of rows and columns of a
Series or Dataframe :

(i) rename() (ii) reindex() (iii) reframe() (iv) none of the above (2)

(e) CSV stands for . (2)
Q.2 Consider the following table and answer the Queries:- (10)
Emp

EmplID EmpName Designation DOJ Sal Comm DeptID

8369 SMITH CLERK 18-12-1990 1050.00 200.00 10

8499 ANYA SALESMAN 20-02-1991 1600.00 300.00 20

8566 MAHADEVAN MANAGER 02-04-1991 2985.00 NULL 30

8654 MOMIN SALESMAN 28-09-1991 1250.00 400.00 20

8698 BINA MANAGER 05-01-1991 2850.00 250.00 30

8882 SHIVANSH MANAGER 09-06-1991 2450.00 NULL 10

8888 SCOTT ANALYST 09-12-1992 3000.00 150.00 10

8839 AMIR PRESIDENT 18-11-1991 5000.00 NULL 20

8844 KULDEEP SALESMAN 08-04-1992 1500.00 0.00 30

a) Write a query to display the name of employee whose name contains “A” as third
alphabet in ascending order of employee names.

b) Show the average salary for all departments with more than 5 working people.
c) List the count of Employees grouped by DeptID.

d) Display the maximum salary of employees in each Department.

e) Increase the salary of managers by 15%

Q.3 (a)Hitesh wants to display the last four rows of the dataframe df and has written the
following code :

df.tail()

But last 5 rows are being displayed. Identify the error and rewrite the correct code so that last
4 rows get displayed.
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Topic: Mysql

Q1. What do you mean by RDBMS? Give some examples. [2]

Q2. Briefly Explain the following terms:

() Tuple (ii) Relation (iii) Degree (iv) Foreign Key [4]

Q3. What is Primary key? Explain with the help of suitable example. [2]

Q4. Assume a table Emp with 15 rows and 5 columns. Write its degree and cardinality.

3 rows are deleted and one more column is added. What will be the new degree

and cardinality?

Q5. What do you mean by SQL? What are the different categories of commands

available in SQL. [2]

Q6. What is MySQL? Write some features of MySQL. [3]

Q7. Write SQL Commands for (a) to (e) and write the outputs for (f) to (h)on the basis

of the following table :

[8]

Table : FURNITURE

NO ITEM TYPE DATEOFSTOCK PRICE DISCOUNT

1 WhiteLotus DoubleBed 2002-02-23 3000 25

2 Pinkfeathers BabyCot 2002-01-29 7000 20

3 Dolphin BabyCot 2002-02-19 9500 20

4 Decent OfficeTable 2002-02-01 25000 30

5 Comfortzone DoubleBed 2002-02-12 25000 30

6 Donald Babycot 2002-02-24 6500 15

(@) To list the details of furniture whose price is more than 10000

(b) To list the Item name and Price of furniture whose discount is between

10 to 20.

(c) To delete the record of all item where discount is 30.

(d) To display the price of ‘Babycot'.

(e) To list item name, type and price all items whose names starts with ‘D’.

(f) Select Distinct Type from Furniture;

(g) Select Max(Price) from Furniture where DateofStock>'2002-02-15’;

(h) Select Count(*) from Furniture where Discount<25;

Q8. Write the outputs of the following:

(i) Select POWER(2,4);

(i) Select ROUND(10.195,2);

(iiSelect TRUNCATE(10.195,2);

(iv)Select SUBSTR(‘COMPUTER SCIENCE’,3,4);

(v) Select INSTR(‘Technical Teaching’,’ch’);



